Weekly Review – 14th November 2005.
UK News

The gap between what women earn when compared with their male equivalents has fallen. Women employed full-time earned 13.2% less than men, while last year the gender pay gap was 14.5%. The reduction in the gap between earnings was caused an increase in the proportion of women taking higher-paid professional jobs. However, when it came to part-time working, women were paid nearly 40% less than men. It seems that women in part-time work are the biggest victims of the pay gap, earning nearly 40% less than full-time men. The gender pay gap for part time work had changed little since the introduction of the Equal Pay Act in 1975. 

Rich and poor 
The ONS Annual Survey of Hours and Earnings also revealed that the wages of Britain's wealthiest workers were continuing to streak ahead of the poorest. In fact, the highest earning full time employees saw their wages grow by nearly double the percentage of the UK's lowest paid workers. The trend toward growing inequality in earnings, which began in the l980s, has been little changed since Labour came to power in 1997. At the same time, the ONS revealed that wages in the public sector had risen far more quickly in the past year than in the private sector. Public sector workers saw their wages rise by 4.1% during the year, compared to a 2.5% increase in the private sector. Across the whole economy, average earnings for full-time staff rose from £22,100 to £22,900 in the past year. 

Questions
1. Explain what is meant by (a) part-time work and (b) earnings

2. In what ways might government try to reduce the gap between average male and female earnings?

3. How might the growing gap between rich and poor workers (a) affect opportunities for the families of poorer workers and (b) be addressed by government?

EU News

Alitalia shares were recently suspended after the Italian government said it would buy 489m euros ($572m; £329m) worth of new stock in the firm. Alitalia is going ahead with a 1bn euro new shares issue, with the government buying almost half the stock on offer. Rival carriers have argued the move breaks rules on state aid, but it has approval from the European Commission. Trading in the airline's existing shares was suspended after they fell 10% in early trading. Alitalia, made a loss of 800m euros last year. As part of an ongoing three-year cost-cutting programme that will see the loss of 3,700 jobs. 
The share issue was initially planned for the summer, but was postponed in the face of high global fuel costs. 

Some questions

1. Explain what is meant by a cost-cutting programme.
2. Why has the government agreed to buy such a large amount of the new shares being offered for sale?

3. The offer to buy shares in a national airline might be stopped by the European Commission – why?

EU Enlargement
The enlargement of the EU is considered by many to have advantages. Those who support the continued enlargement of the EU to include Macedonia, Croatia and Turkey put forward the following advantages:

1. That enlargement increases the EU’s weight in European and worldwide affairs.

2. The extension of the zone of peace, stability and prosperity in Europe.
3. The opening of new markets

4. Unprecedented cultural and interpenetration and cross-fertilisation

5. Deepening of the integration process, which is leading to reforms at institutional and decision-making processes – even without the endorsement of the new Constitution

6. The extension of the Euro Zone

7. New priorities in foreign policy

8. Deepening of EU’s political dimension (common foreign and security policy, defence and global issues, like sustainable development, good governance and global environmental issues.

My thanks to Georges Ingber of the EU Enlargement Unit for the above.
International News

The Chinese government has hinted that it is planning to gradually increase the value of the yuan next year. An influential government think-tank the State Information Centre said the "trend" would be for the currency to rise. Such a move by Beijing would be welcomed by the US. China keeps the yuan tied at a fixed rate against the dollar rather than allowing it to trade freely. China did increase the value of the yuan by 2.1% in July. The think-tank also said that the explosive growth in China's trade surplus - another major annoyance to the US - will slow next year. Yet the surplus would still reach $117bn (£67bn) in 2006 it said, up from a projected $100bn this year, with both exports and imports likely to grow by about 20%. 
Some Questions
1. Explain what is meant by an exchange rate.

2. Why have the US been pushing for a decrease in the value of yuan?

3. If China did allow the yuan to fall in value how might this affect its trade balance?
